\q. Thefactorsofa —1-—2x—x%are
a —1—2x — x?2 a:ma'@-s;

a) (a-x—-1)(a—x— 1)

& CH'Z’L"’ L) b) (a—x+1)(a—x—-1)

(a+1+x)(a 1—x)

-_—CL - C’L‘H) da-x+1)(a—x+1)
I

= (Q-H(H)(a—x- ) G

SSC CHSL, 2 June 2022 S3

Y



20,Ifx::}fiJ/—jhtjr=g{%;{f)ﬂiz::;(%J¥1;hﬁthenthevmue
of x? + y* — 7% + 2xy is
WRx=b+c-2ay=c+a—2bz=a+b—2c,aAx%+y%—
z? + 2xy T HAT:

0 b)a+ b+ c
cJa—b+c da+b—-c
(ry) -z*
=;@G3*2)(}*3JZ>
= 0 x( Y=o

R —



2.|. How many pairs of natural numbers are there such that the difference
of their squares is 35? e — Sumn >

s Seas & Rra S 48 § P a9 @1 e 35 37
a)l 2 c)3 d) 4
2 2
A—-b=%5 25% |
(@tb) (a-b)=35 X5
) 3D x| > =384
- =% b= %& )y (8 17)
! x5 = Q=7
%L'g/ b-“_);&:\ (61 I)

P




22 . What is the value of 1006% — 1007 x 1005 + 1008 x 1004 —
1009 x 10032

10062 — 1007 x 1005 + 1008 X 1004 — 1009 x 1003 FT HIT
;’)jﬂ 7= (1006+1) (006-1) +({00ét L)[006-2) — (0061%) (1006-3)

6 b)3 912 d)24
- 196"~ foog "1 15562 9)- 1066 5(3)
= 6

Uit duiost

4
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r . 2
‘ ‘ot 22, The value of (1018)* — 1019 X
Urat- WS’L 1017 + 1015 x 1012 — 1016;
_ B = 1011 is: i9-1) (1013.5t)
- -A=Y-g-= D= (1or8+ ) (10
('1 %+0 6 (4 9= ~5+0=5 (1018)%2 = 1019)>€ 1017 + 1015 x
1012 — 1016 x 1011 FT AW AT, H|

‘(a)l b) 4 03 5
e +M gt B9 (o5 nsa)
Qo @5)* .
= | -&3\ +6.25 <c \b\%.§=m|§$m;—'

| CPO 2022 S1, 9 Nov 2022 | 5



(2% 1) - () 0148) (45Xt (a=1)




a.l b ° Ca§+ bg) (a"l_,,k‘;l) (az'r b’L) @ - bL)

od-bl= (%5 )(a+6) (@-b)

ot
-1 = (2% t)&fﬂ) QJ«\)Q—Q

R I



24. 232
—(2+1)(2% + 4
DR+ 128+ 1)(2% +1)is
equal to

2202
+ (2% +1)(2* +1)(28 + 1)(216 + 1) fFa®
AT 87

a) &T)zlb
c)0 1()
@L lz)) \ -2'52_ !32
L)

@) >

g

] @




)gz - 1)(22 + DR+ DRE+ DR + D22+ 1)H)(2%* + 1) is:
) 2256 _ b)2256 4 1 /2128 1 d) 2128 4 1

@

122 128
=2~/

SSCCPO T1, 01 Jul 2017 S1



26. What is the simplified value of (3 + 1)(32+ 1)(3* + 1)(38 + 1)(31° + 1)?
(>1) B + DB+ DE* + DE® + DE™ + 1) FT Wi AW 1 ¥ 2

TI 16_ 67 128_
%(3 1) (%”) b) B3°-1) 0) (3°7-1) d) (377°-1)

2 2 5 5

3’2.
= 3-)

2




27. What is the simplified value of (x128 + 1) (x32+1) (x®* + 1)(x1® + 1) (x® +
D+ D (x* + 1D(x + 1)?
(x128 4+ 1) (x32 +1)(x64 +DE+DEE+ D+ D+ D (e + 1)

'

(7( 1) \
256_ x128_1 x04-1 = X256 _1
a)x 1 b) -
256
x -1

(x1)




1 2b 4b3 8b7
a+b a?+b?2 a*+b* aB8-b8

2b 4b3 8b7
- g5 D e § ?

a’?+b2  a*+b* a

| bla-b )1 0

28. Whatis 1 — equal to?

foo-for




2 2 2.2 2AP=2246%+10%+14"+...94%°and Q =
P_Q: @ (,,5.,»]9—_4 12+52+92+...812, then what is the value

AT 4T 872

\ \

B z z a) 24645 26075
=@+ '.)(2-')+<(_+§_)<€—S)+_ ... c)29317 “5(31515

X2 \)% 160 41 =21 w24

3t 114 "

+ O 94 T + (63 + 8§_Z+%7‘+q\ﬂ'
-L&(r
/?XQ\ 4

ot R digys

ﬂz 434 00-}'.56:1";

| SSCCGL T2, 20 Feb 2018 |
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018 m"'-a“')

= m (mPru)(m+2)(m-2)

20. Factors of m> — 16m
m° —16m&% {Iﬁ'@'&' iﬁﬁ‘-
aym(m—-1)(m - 3)
_Bfm@m - 2)(m + 2)(m? + 4)
cm(m—-1)(m—-2)(m+ 2)
d) None of these




. (a + 1* — a*is divisible by

2
t_ ot RST § :
[(a+l)2+ azj [(‘“O”O‘J [/*"9(] Sljzt)z +2a-1 b%)}2a3 —2a-1

c)2ad —2a+1 J{2a2+2a+1

= (Qa*+ 2a+1) (2a+)




32 . A complete factorization of x* + 64 is
x* 4 64 FH FFYOT JUTAESA

” + 8) (xZ _ 8) X=o0 6L1
W (? —4x + 8)(x* — 4x - 8)
A (% + 4x + 8)(x% — 4x + 8)
0’+b'= (a+b) = 2ab
R 2 2
Q—L) +Q) = &xz-\%) ~ @ E ALp—

Vo
= (ﬁ&x}l- QX)L
= (Crgep) (1KF8 W)

16
SSC CGL T2, 30 Nov 2016




0~ ¢4.669x4.669-9%(0.777)2
(4.669)%+(2.331)2 H14

2 .2 2 2L — k), where k =?
a=b _ 0-b :M(a’gb 4.669%4.669—9x(0.777)2

Z 2 2 7 e
A +b+2abk (@) (a -tb)\’"((‘*l 6i9>k)+’(é|%§.r1>k+i‘;(0 667)(2.331)

2% . The value of

0.666 b) 0.334
:-55"1 1 d)2.338 3 (7Y
= K % (o 2-
A Xb=(oh) Qx.‘l‘n)
L= 1-.33Y HEERNE
= €66 \

b




24.x and y are positive integers. If x* + y* + x%y? = 481 and xy = 12,
then what is the value of x2 — xy + y?? +2%9Z 4y
XxTAT y U UATcHF IF 8] Iie x* + y* + x2y? =481 qur
xy =12 §, ar a2 —xy+y23-7T2HTF|'3-'~!1T%

a) 16 %13 2 c) 113 d) 15

‘\2/ wg_ 2
QL Y > £25 A5-12=13 C‘Lz*}j?: )C‘.1+3\1+’qu'37-
2oyt =35 =
*a s




‘Hw> 4x3—x

4x3—x
25.The value Ofm when x = 9999 js

2 (ukr )
(2%-1) 3(@x+D

- xlenaf]
3 (@) ey

X T AT 3P x = 9999
(2x-1)(6x+3)
a)1111  b)2222 __#y3333  d) 6666

9999
—— =333




(x2+y2) (x—y)—(x-y)®

%6 -What is = ~ equal to?
x%y—-xy
(x2+y2)2(x—y):(x—y)3 Rrad TR ¥ 2
x2y-xy

I (egt-gp] 9t A2 a9
Y C=4)
= %&zg\

R —



37 The factors of (x* — 1 — 2a — a?) are:

(x —1-2a—a®)¥ UEES AT FU |
x—a+1)(x—a— 1) b)x+a—-—1)(x—a+1)
vv#x+a+1)(x a—1) d) None of these
- (1+2a +a%)
L - (1400~

<_X.+l+a) (-1 a)




% A=""1andB=2"1 fx=2and y=9

M(x—') K yiHL y o

A-= then what is the value of A2 +2AB + AB?*?
8_

2 '—'5 afy A =2 a B=2 1%| IR x =2

aar y 9%a’r A? 2AB AB? &1 1
= M{\;} u) ‘l o il d +2AB +

a) 96475 \/b’)/98625

|
— Q0 ¢)92425 d) 89125

A(ATIR 4 &) S
=15(¢575) by

> &S
laxr 3 Jioits
SSCCGL T2, 18 Feb 2018 22
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